SAP ABAP table EGERR {Device data: Info record for point of delivery - historical }

{0,1}

< /EGERR-SERVICE_PROV = ESERVPROV-SERVICEID

EGERR-DEVGRP = EDEVGR-DEVGRP

—_—

EDEVGR

MANDT [CLNT (3)]
DEVGRP [CHAR (8)]

EEAG

MANDT [CLNT (3)]

EAGRUPPE [CHAR (8)]

EANUMMER [NUMC (2)]

EKOG

MANDT [CLNT (3)]

KOMGRP [CHAR (8)]

PROLFDNR [NUMC (2)]

ESERVPROV

| MANDT [CLNT (3)]

SERVICEID [CHAR (10)]

EGERR-WGRUPPE = EWIK-WGRUPPE 0..N | MANDT [CLNT (3)]

ETYP

MATNR [CHAR (18)]

EWIK

-

EGERR-ZWGRUPPE = EZWG-ZWGRUPPE 0.N

MANDT [CLNT (3)]

WGRUPPE [CHAR (8)]

WNUMMER [NUMC (2)]

EZWG

MANDT [CLNT (3)]

ZWGRUPPE [CHAR (8)]

ZWNUMMER [NUMC (3)]

— . | MANDT [CLNT (3)]

T370B

BEGRU [CHAR (4)]




